RASPORED MEĐUSMJENA  2018.- 2019. ( drugo polugodište )
	POČETAK
TJEDNA
	    REDNI BROJ
    TJEDNA
	UJUTRO

Uč. br. 3
	UJUTRO

Uč. br. 13 
	MEĐUSMJENA
3a i 3b  br. 3
4a         br.13       
	Učionice za odjel koji je
u   međusmjeni

	14. 1.
	17. TJEDAN
	3a             

	4a
	3b
	S= 10.45  br. 6,   11.30 br. 7
Č=10.45   br.  6
P=10.00 i 10.45 br. 10

	21. 1.
	18. TJEDAN
	3b                   
	4a                    
	3a
	P= 10.45   br.5
U=10.45  br.7
P=10.45  br. 10

	28. 1.
	19. TJEDAN
	3b                  
	3a
	4a
	P=10.45  br.5
U=10.45  br.7
S=10.45   br.6

	4. 2.

	20. TJEDAN
	3a
	4a
	3b
	S= 10.45  br. 6,   11.30 br. 7
Č=10.45   br.  6
P=10.00 i 10.45 br. 10
	

	11. 2.           
                                           
	21.TJEDAN
	3b
	4a
	3a
	P=10.45    br.5
U=10.45   br.7
S=10.45    br.6
	

	[bookmark: _GoBack]18. 2.
	22. TJEDAN
	3a                   
	3b
	 4a
	P=10.45   br.5
U=10.45  br.7
S=10.45    br.6

	25. 2.
	23. TJEDAN
	3a                  
	4a
	3b
	S= 10.45  br. 6,   11.30 br. 7
Č=10.45   br.  6
P=10.00 i 10.45   br. 10

	4. 3.
	24. TJEDAN
	3b              
	4a
	3a
	P= 10.45   br.5
U=10.45  br.7
P=10.45  br. 10

	11. 3.
	25. TJEDAN
	3b                   
	3a                 
	 4a
	P=10.45  br.5
U=10.45  br.7
S=10.45   br.6

	18. 3.
	26. TJEDAN
	3a
	4a
	3b
	S= 10.45  br. 6,   11.30 br. 7
Č=10.45   br.  6
P=10.00 i 10.45 br. 10

	25.3.
	27. TJEDAN


	3b               

	4a
	3a
	P=10.45  br.5
U=10.45  br.7
P=10.45 br. 10

	1. 4.
	28. TJEDAN
	3a                   
	3b                    
	4a
	P=10.45   br.5
U=10.45  br.7
S=10.45   br.6

	8. 4.
	29. TJEDAN
	3a                    
	4a
	3b
	S= 10.45 br. 6,   11.30 br. 7
Č=10.45  br. 6
P=10.00 i 10.45 br. 10


	15. 4.
	30. TJEDAN
	3b                
	4a
	3a
	P=10.45  br.5
U=10.45  br.7
P=10.45 br. 10

	29. 4.
	31. TJEDAN
	3b                
	3a                 
	4a
	P=10.45  br.5
U=10.45  br.7
S=10.45 br.6

	6. 5.
	32.TJEDAN
	3a
	4a
	3b
	S= 10.45  br. 6,    11.30 br. 7
Č=10.45  br.  6
P=10.00 i 10.45   br. 10

	13. 5.

	33. TJEDAN



	3b
	4a
	3a
	P=10.45   br.5
U=10.45  br.7
P=10.45   br. 10

	20. 5. 

	34. TJEDAN


	3a
	3b
	4a



	P=10.45     br.5
U=10.45    br.7
S=10.45     br.6

	27. 5.


	35. TJEDAN


	3a
	4a
	3b
	S= 10.45  br. 6,    11.30 br. 7
Č=10.45   br. 6
P=10.00 i 10.45    br. 10


	3. 6.

	36. TJEDAN



	3b
	4a
	3a
	P=10.45   br.5
U=10.45  br.7
P=10.45   br. 10

	10. 6.

	37. TJEDAN


	3b
	3a
	4a
	P=10.45   br.5
U=10.45   br.7
S=10.45    br.6





